
Mise	à	jour	–	mars	2018	

Anglais	langue	seconde	Voie	B		

Communication	orale	–	5e	année	

	

Copie	type	de	niveau	1	

Justification	–	Le	vocabulaire	de	l’élève	manque	de	précision.	Il	
doit	beaucoup	chercher	ses	mots	et	il	a	parfois	recours	aux	mots	
français.	De	plus,	il	ne	comprend	pas	toutes	les	questions	posées.	
Ses	phrases	sont	courtes	et	mal	formulées.	Il	a	de	la	difficulté	à	
comprendre	une	histoire	entendue.	Par	conséquent,	il	ne	réussit	
pas	à	placer	les	événements	en	ordre	et	à	répondre	aux	questions	
de	base.			

	

Copie	type	–	Le	travail	de	l’élève	débute	à	la	page	suivante	+	
enregistrement	audio.		






